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QUESTION BOOKLET
This question paper contains 170 questions. /ST I T H 170 T & |
All questions are compulsory. / weft g 3Afemd 2|
One question carries half mark only. / T I4 o ToTU Sharet 3mmeT 37k 2|

Maximum Marks : 85 JATIHaT 37 : 85
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1.  Which of the following is an inventory control tool ?
(A) ABC Analysis (B) Z-test
(C) F- test (D) All of these
7 o & o &1 AT -G =107 61 3Rt & 2
(A) ABC fageiyo (B) Z-uligrm
(C) F-udieam (D) ¥ |l
2.  Buffer stock is used in
(A) Cost control (B) Pricing
(C) Inventory Management (D) None of these
THL TTeh TN TR ST B
(A) mTa e | (B) himd — fqufor &
(C) -l sroeer H (D) FH & b e
3.  Banking facility is determined under
(A) Layout planning (B) Distribution
(C) Event (D) Experiment
SifehTT gfarem w1 g foha Sman g s9eh 31EE
(A) IR AR (B) ferawon
(©) &= (D) wiegor
4.  Layout planning is used for
(A) Disposal of wastage (B) Chart
(C) Cost (D) None of these
ST SRS o1 53T fopgres foru femam SiraT 27
(A) Tafre fearo (B) =
(C) (D) T 8 His T
5.  For improving the working environment, which study is used ?
(A) Motion study (B) Distribution
(C) Service facility (D) None of these
1 ITATE0T YR o fIu forg arerem o1y fopan ST 8 2
(A) TEITE LA (B) ferawun
(C) @amgfaen (D) T & &1 TEl
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6.  Which of the following factors affecting plant location ?

(A) Brand (B) Market (C) Adoption (D) None of these

(31 T & M W1 T W Tl ol THTId hLdT @ ? 0

(A) wUg (B) ¥R (C) 3rflRtor (D) T8 § 1S &l
7.  Plant layout means planning for

(A) Office or shop (B) Product

(C) Finance (D) All of these

AT HAT=ITE T 319 §eh foTe J1 8

(A) AT AT GHH (B) 3dTE

(C) ford (D) TE T
8.  Material planning is a part of

(A) Operational Research (B) Marketing

(C) Production Management (D) All of these

SHHT W R ;

(A) JITEH ATFIH (B) Teavm

(C) 3HIGd Ja-Y (D) ug &t
9.  Risk bearing capacity is related to

(A) Entrepreneurship (B) Staff

Salary (D) Worker

?hwg@:l a%q &FF SEE TR 2 -

(A) St (B) ®™® (C) e (D) =t
10. Entrepreneurship includes

(A) Creative activity (B) Result-oriented behaviour

(C) Both (A) and (B) (D) None of these

CRIIEGE
(A) BSHTcH Tiafafer (B) URUMTH-3H@ SIFER
(©) (A) 3 (B) A (D) T & %1E T

11. Cultural values include
(A) Simple living and high thinking
(B) Corruption
(C) Profit
(D) None of these
qiehfaeh qoail H et &

(A) el Sfaq 3R 3= o= (B) ¥ENER
(C) T (D) T @ I3 T&
12. Foresight and initiative quality is must for
(A) Managers (B) Entrepreneurs
(C) Leaders (D) All of these
LG 3R e o1 fohereh foTe stmerereh 8 7
(A) JsS4h (B) 3t (C) = (D) I8 &t
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13.

14.

15.

16.

17.

18.

19.

Which is the ability to awaken the others by the desire to follow a common

objective ?
(A) Planning
(C) Decision

(B) Perspective

(D) Leadership

AT IE7 o STTERUT ol 3201 GIU GOl ohl SITTEeh hid shi &l shid €1 & ?

(A) 3T (B) HME Hew

() ool (D) F

Selection of the best alternative is related to

(A) Promotion (B) Plannin

(Cl Decision makin (D) Controlﬁng

gty forehed 1 99 Tohad eI~ 8 7

(A) "H=fd (B) TN

(C) fuem (D) =

An effective planning consists

(A) Simple plan (B) Clear plan

(C) Flexible plan (D) All of these

et e B 21 2

(A) U &I (B) Y wIH

(C) <r=sfiel == (D) ¥ |l

Corporate strategy includes

(A) Goodness (B) Man-power

%‘CT)W Strategic leadership (D) None of these
ST 7 1ifret 3

(A) TSI (B) Hra-rierd

(C) Trifaes Jaca (D) 98 T IE &

Resistance to change is related to

(A) Plan (B) Co-ordination

(C) Motivation (D) None of these

gfae 1 Uiy se T §

(A) IS (B) @H=

(C) Rom (D) 8 & g 7

Which factor is responsible for industrial sickness ?

(A) High production

(B) Less profit
(D) All of these

(C) Lower productivigy
3TeNfiTes UTAT o foTT i 91 ek IR g 2

(A) 3= 3ATEH (B) = TR

(C) T Ieutgesan (D) I8 &t

‘ISO’ is a

(A) Quality standard (B) Traditional cost
(C) Test (D) Inspection
‘ISO’ 8 T

(A) TUTET A (B) TR SARTA
(C) udiegur (D) S
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20. Process control is a part of

(A) Quality system (B) Policy
(C) Skill (D) Machine
ket =T $Eeh! T W B
(A) T[T OTTet (B) ifa
(C) (D) =M
21. What is role of Entrepreneurship ?
(A) Job creation (B) Process
(C) Wealth (D) None of these
AT <hl T YT & 2
(A) HE (Jfe) g (B) s
(C) @™t (D) 3H € IS &l
22. Egteegl needs is related to B) Self
osition elf respect
EC; Income . gD% None of these
SN SATIYIehdl fhad rIfrd g 7 ‘
(A) st (B) IHEWE  (C) I (D) ¥ 9 g &l
23. hgana 1ement includes B C "
annin ontrollin
EC; Co-ordi%ation gD% All of thesge

o
INBEIRIEEL (B) Tra=mr (C) wH= (D) Jgad

24. Social responsibility is a positive for

(A) Company (B) Firm (C) Industry (D) All of these
TSR ITRETRICT $Heh ToTU HehIUIcH &
(A) ST (B) ®H (C) 3am (D) Ig ot
25.  Social audit is a audit of . .
gA; Social transaction gB; Social activity
C) Social cost ) D) All of these
o707 fehHrenT 3TehaTuT 2 7
(A) WIS e (B) @I foham
(C) @M T (D) Jgad
26. Globalisation is an example of which macro environment factor ?
A) Economic (B) Social (C) Political (D) Technological
gi’ailwﬂl T TTELT T T G & 2

(A) 3T (B) dMINH (C) TsHfaeh (D) dehreht

27. China is an example of

A) Mixed economy system B) Socialist system

C) Capitalist system D) None of these
< 3gTET B

(A) Tubra srfeaen = (B) HHISIETG! SHerel hl
(C) YSHae) ereer 1 (D) 3H € IS &l
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28.

29.

30.

31.

32.

33.

34.

The Consumer Protection Act came into existence in the year

ITHIRT TRET0T ST fope v S1fedea # T ?

(A) 1980 (B) 1986 (C) 2000 (D) 2005
The new economic policy has which of the following components ?
(A) Liberalisation (B) Privatisation

(C) Globalisation _ (D) All of these
o Aifddfmdasmarger g ?

(A) e (B) fasfiemn (C) Sveftertur (D) Ig ot

In the financial statement, contingent liability is

(A) Recognised (B) Not recognised
(C) Adjusted (D) None of these
foreitar ferareor 3 wrefives S 2t &

(A) wlihd (B) 3r=itehd (C) Tumfsa (D) 38 O IS &l

Cash discount is allowed on

(A) Sales (B) Purchases
(C) Prompt payment (D) All of these
Fohe e Tohdl TX 3THA & ?
(A) fosha (B) =3 (C) TP (D) I8 @t
The statutory meeting of a company is convened once in a
(A) Year (B) 6 months
(C) 3 months (D) Life time of the company
fopeft shEat <ht Hifafesh o HUH IR 7 |
(A) & (B) 6Hm®
(C) 34®= (D) HHIHI o ShaehTet
Elastic demand is
(A) less than one (B) equal to one
(C) greater than one (D) zero
i 2

(A) ThEHFA  (B) ThshsR (C) Tha s (D) I

In a perfectly competitive market

(A) Firms can freely enter and exit

(B) Firms sell a differentiated product

(C) Transaction costs are high

(D) All of these

ot gfeerft SR g

(A) ®H A= B9 Y YA 7R SFTH T Tl & |
(B) i fasifeq Scure =1 forsha ot 2 |

(C) e @I 3= Bt & |

(D) g @
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3S.

36.

37.

38.

39.

40.

41.

42.

Which one of the following is the ‘First Generation’ language ?

(A) BASIC (B) PASCAL

(C) COBOL (D) Machine language

A d g sH @ gum i v g ?

(A) S (B) UR=hA (C) Hiard (D) | 9T

The leaders that require a strong vision are called

(A) Situational leaders (B) Transformational leaders
(C) Transactional leaders (D) None of these
ofret 8 gome gft 1 st a8, FEemd
(A) THIEIAA et (B) CEBIHIN wilet
(C) TR At (D) ¥ 9 s &l
Management is concerned with
(A) Legislative functions (B) Executive functions
(C) Administrative functions (D) All of these
Ta-e fohod grafd g 7
(A) Toromdt st (B) SRR T
(C) wmERe wrE (D) Ig Tt
Ethics is derived from
(A) Bible (B) Bhagwat Geeta
EﬂC_% Quran (D) All of these
~3e foheE S B 7
(A) sTsfee (B) e el
(C) P (D) =& &t
A product can be a/an
(A) good (B) service (C) 1idea (D) All of these
Teh 3T1E 3l Hehdl &
(A) A (B) @al (C) fem=m (D) I8 &t
The strongest determinant of demand is
A) Suppl B) Price C) Distribution (D) None of these
S e (© Db

(A) A (B) (C) formm (D) 370 & HS T

Warehousing is the sub-elements of

(A) distribution (B)_product (C) promotion (D) None of these

TSN fehHehl 3uded & 7

(A) famm (B) 3G (C) HaeH (D) T8 ¥ IS &

Which of the following increases buying power of a person ?

(A) Income (B) Wealth (C) Credit (D) Al Of These

1 4 9 &1 Toret safaa Y sha sifed <l d@aT 8 2
(A) I (B) wmfa (C) =|/u (D) Jgad
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43.

44.

45.

46.

47.

48.

49.

Which of the following are motivation models ?

(A) Learning model (B) Economic model
(C) Psycho-analytic model (D) All of these

11 5 9 % 9 SAfRen wiesd & 2

(A) Aferm g (B) 3Tfdieh Alee

(C) TI-Tageivo uigw (D) Ig |t

Which of the following cost may be used for pricing decision ?
(A) Average cost (B) Fixed cost

(C) Variable cost (D) All of these

e 0 9 forg a1 ST himda-faior vk § foran S aepar @ 2
(A) Eae@ra (B) feremm@  (C) ufediera (D) I8 @i

What is ignored in profit maximization ?

(A) Time value of money (B) Net value
(C) Wealth (D) None of these
THTRT 3tferehaeientor & fermeht SUet <t STt 2 2
(A) o 1 99T oo (B) g Ted
(C) @=f (D) ¥FH 8 IS el
Total of all current assets is called
(A) Fixed working capital (B) Gross working capital
(C) Net working capital (D) None of these

1] <1 I HEATAT & .
(A) Tor wrsfe G (B) el SISfA YSh
(C) et wrisfter it (D) ¥ 9 g &l
Need for budgeting arise due to
(A) permanent committment (B) relatively high cost
(C) long-run effect (D) All of these
SSTe <l SATATThdT $Heh HRUT A Bl &
(A) TR gfaegar (B) AT I AN
(C) S yHE (D) ¥z &

Bank rate is also known as

(A) discountrate (B) penalty rate (C) interestrate (D) None of these

b el 399 Hi STHT SITaT @

(A) A (B) wmf& & (C) =S (D) T & I Tel

The IFC is affiliated to

(A) World Bank (B) IMF

(C) Asian Development Bank (D) None of these
IFC fored Trarg & 7

(A) favads (B) IMF

(C) Rrr faer § (D) 3 & 7 e

9 Code No. : C-421/2018/Series-A



50.

51.

52.

S3.

54.

5S.

56.

57.

58.

The Special Drawing Rights (SDRs) are allocated by

(A) RBI (B) IMF (&) WHO (D) None of these
BT JfrenR ferres gry 3Tefed feru e g 2 ’

(A) RBI (B) IMF (C) WHO (D) 0 9 HIs &l

Author of ‘Nayaya Sutra’ was

(A) Kapil (B) Badrayan (C) Kanad (D) Gautam

AT T T @ T

(A) U (B) g (C) =uTg (D) Taw

Which dynasty was ruling over North India at the time of Alexander’s

invasion ?

(A) Kanva (B) Sunga (C) Maurya (D) Nanda

fGeh=t <h STTSRHUT < TH T A O b TSI 1 ITE o1 ?

(A) (B) T (C) wrd (D) ¥

The Buddha belonged to which clan ?

(A) Kuru (B) Sakya (C) Maurya (D) None of these

g forg a9 @ rafa 9 2 ’

(A) F& (B) I (C) | (D) ST 8L Tl

Chanakya was also known as

(A) Vishnu Sharma (B) Vishnugupta

(C) Vishnu Chandra (D) None of these

10T <h! $8E HY STHT ST o .

(A) fossmi (B) fosprm (C) =g (D) 98 9 &I Tal

The capital of Kadamba kings was

(A) Tanjore (B) Varanasi (C) Kanchi (D) Badami

el TSTIAT <6l TSTerr oft ’

(A) TR (B) SR (C) == (D) sTem

The silver coins of the Gupta period were known as

(A) Dinar (B) Rupyaka (C) Satamana (D) None of these

TTehTc o dIe] o [&dh STH T ATd & ’

(A) TER (B) ¥R (C) Hawm I (D) 3 9 IS &l

Bhagavatism is centred around the worship of

(A) Bhagavati (B) Siva (C) Vishnu (D) None of these

WITad 9 feh&ehl TSI 9L hivsd & 7 ’

(A) et (B) T (C) feasop (D) T8 H B T

Who founded four mathas in the four corners of India ?

A) Shankaracharya B) Ramanujacharya

EC Bhaskequ.charya - D) Madhvacharya

WA o S i1 H <R HST ol ST ?

(A) TRU=RE  (B) TSR (C) WRRUER (D) HiEER
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59.

60.

61.

62.

63.

64.

65.

66.

67.

Mahabalipuram was established by the

(A) Pallavas (B) Chalukyas (C) Pandyas (D) Cholas
HETSC R foheeh g €A foharm T ?

(A) Yood (B) =Tqe (C) [ (D) =

Malik Kafur was whose General ?

(A) Alauddin Khilji (B) Firoz Shah Tughlaq

(C) Mohammad-bin-Tughlaq (D) Balban

HfcTeh ST fehEhT TATI AT 2

(A) IFAASEH Raersh (B) ThUNTSE qreTeh

(C) Hrgwe- -t (D) ST

Which region of India was ruled by Sultan Zainul Abidin ?

(A) Delhi (B) Assam (C) Kashmir (D) Orissa

FeAdH St 3T grT YR b fopg & W ST feharm Trom o 2

(A) foeedt (B) 3@ (C) ¥R (D) 3t

Amir Khusrau was born at

(A) Patti (B) Patli (C) Patiali (D) Patiala
GO kT S hgl g3 AT ?

(A) Ugt (B) wedl (C) ufestmeft (D) ufearen

The historian Abul Fazl was killed by

(A) Hemu (B) Bairam Khan

(C) Uday Singh (D) Bir Singhdeo Bundela

STETaehR 3Tt Holel fohtoh gIT HIT TIIT T 7 . ‘ .

(A) B (B) sw®EH  (C) 3IcAHE (D) R fged gean

Who founded Sikhism ?

A) Ramdas B) Hargobind (C) Nanak (D) Gobind Singh

Y <hT ST i 2

(A) THTH (B) oS (C) T (D) Tiifere féfg
Indian Factory Act was promulgated in

YT ShR@HT ST el T §3T ?

(A) 1861 (B) 1881 (C) 1887 (D) 1898
Who was the leader of Champaran Indi§0 Movement ?

EA; Birsa Munda g ; Ram Singh
C) Mahatma Gandhi D) None of these

THA ISl STGIeH 3T =l i AT 2 . . .
(A) fsmmguer  (B) Tmfdg (C) WErem et (D) T 9 his &l
‘India war of Independence 1857’ is written b

EA S.N. Sen gB; R.é Majumdar
C) V.D. Savarkar D) None of these

: IR 3T 3Eued 1857 fepeeh grr foredt g 7
(A) TE.TA. T (B) ITLEH. HSER
(C) .. Heet (D) T8 A IS T&
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68.

69.

70.

71.

72.

73.

74.

75.

In which year the Indian National Congress was established ?

RS TYT g <ht Tt form o9 0 73 off 2

(A) 1882 (B) 1885 (C) 1888 (D) 1895
When did the partition of Bengal take place ?

ST o1 TITSH el 3T 2

(A) 1905 (B) 1906 (C) 1907 (D) 1911
Which party was founded by Subhash Chandra Bose in the year 1939 ?
(A) Revolutionary Front (B) Indian Freedom Party
(C) Azad Hind Fauj (D) Forward Bloc
FUTYE5, o8 5 I8 1939 | foret ure ot Tamae <h oft 2

(A) TEegEEd e (B) 3fugad hien aref

(C) 3G fag ®ist (D) ®RIS AT

Who was not a member of Cabinet Mission ?

(A) Pathic Lawrence (B) Stafford cripps

(C) A.V. Alexandar (D) John Simon

I <hfere T 1 9ee &l o1 2

(A) Ui e (B) WwIe fsrd

(C) T TRIvet (D) S 1gH

The Constitution of India was adopted on

(A) 26" January, 1950 (B) 26" January, 1949

(C) 26" November, 1949 (D) 15™ August, 1947

R T TSI e STITT T o7 ?

(A) 26Had, 1950 (B) 26 SHad, 1949

(C) 26791, 1949 (D) 15 377, 1947

In Indian polity, the executive is subordinate to the

(A) Legislature (B) Judiciary

(C) Election Commission (D) None of these

WA U] U hRTioTeh! fored 3refiaer 2 7 .
(A) TR (B) =mwifetsht  (C) T ™M (D) $H § whis &1

Which one of the following describes India a secular state ?

(A) Fundamental Rights (B) Directive Principles of State Policy
(C) Preamble to the Constitution (D) 9" schedule of the Constitution
1 o 9 1 wRa I gufe TS afvid S g 2 '

(A) HA AUHR (B) T = ifd-Tresres fagra

(C) wfaam 6 J&araaT (D) wfayr 6t 9ot St

Under which Article of the Indian Constitution can the President of India be
impeached ?

(A) Atrticle6l (B) Article75 (C) Article76 (D) Article 356
WA Hfqem o fohd 3T o 31efH W o TgHfd TX HETIRIT SR i Eehdl & 2

(A) sgese6l (B) 3gese75 (C) I =8e 76 (D) 3iTwse 356
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76.

77.

78.

79.

80.

81.

82.

83.

Who exercises the actual executive power under the parliamentary form of
Government ?

(A) Parliament (B) Prime Minister of India
(C) President of India (D) None of these
T o HHER W& o I arfaeh srRIshH ARl s SN 7 HLdl @ ?
(A) F¥g (B) WRA o T
(C) W s Tgufd (D) 3T & IS Tl
Who advises the Government of India on legal matters ?
(A) Attorney General (B) Chief Justice of Supreme Court
(C) Chairman, Law Commission (D) None of these
o ATHAT 9L WA HLehT ohl TUHII S ¢l & ?
(A) 3T SR (B) HaT= =R o G& =ARTehtsr
(C) =rrEq, fafer s (D) ¥ ¥ IS &l

Rajya Sabha can delay the Finance Bill sent for its consideration by the Lok
Sabha for a maximum period of
(A) Seven days (B) Fourteen days
(C) One month (D) One year
TSI |1 Al AT g 3ok TTaioT o fote 9ot 7 fereft ford g i aifersan
fopaft araftr & fore Tes wpclt 27
A) #af@  B) diwf@ () WA (D) THA
il“lhq maximum strength of the Lok Sabha, as stipulated in the Constitution of
ndia is
YA o HGGH | TG STTIR ieh T 1 Jhad Te T&T §
(A) 543 (B) 545 (C) 550 (D) 552
The middle unit in the three-tier Panchayati Raj System ?
g; Gram Panchayat ggg Panchayat Samiti
C) Zila Parishad D) None of these
~ AR T TS e H W 3ohTS .
(A) TMUEREE  (B) TG Emfd (C) Fenufwe (D) € 9 &8 &1

Who appoints the Union Public Service Commission ?

A) Parliament B) President of India
gC; Chief Justice of India gD; None of these
el i1 FTT N B I T H D 7

(A) &g (B) R < Trgafd
(C) WA o T =rnehis (D) 8 O His &l

Nuclear energy is derived from '
(A! Uranium (B) Plutonium (C) Thorium (D) All of these

ol fohad fehetd & 7
(A) FEm  (B) wiafEm  (C) wfem (D) @& &
Mid-Day Meal Scheme was started in the year
TETE WIS ST T <hl 778 ot
(A) 1995 (B) 1996 (C) 1997 (D) 1998
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84. In India, liberal industrial policy was adopted in the year
W § 3gR 3Tt ifd

(A) 1948 (B) 1956 (C) 1985 (D) 1991
85. Federal Reserves is the Financial organisation of

(A) USA (B) Britain (C) Japan (D) Germany

held Tiord fohereht foria TTa 2 7

(A) I UHET, (B) fered (C) UM (D) St

86. Devaluation of Rupee in India was first introduced in the year
WA § ¥9% T STCa TUH 91 39 a8 H 37 o7 ;
(A) 1949 (B) 1966 (C) 1972 (D) 1990

87. The head office of ‘NABARD’ is located at
(A) Mumbai (B) New Delhi (C) Hyderabad (D) Lucknow
ATETE’ T Y&T BT Hal frd § 7

(A) H=g (B) Wfdeeht  (C) Beuemg (D) vETS

88. Which of the following taxes in not levied by the Union Government ?

A) Corporation Tax B) Customs
C) Income Tax _ ~ (D) Land Revenue
"l h{ shq HIhIT g ngf NHIBIBSIGE] % ?
(A) M (B) %A (C) 3R (D) Y-Ts =
89. The c%pital of IMF is made up by contribution of the _
A; redit ' ng Deficit Financing
gC Member Nations D) Borrowings
IMF <t 4sft fopereh 31ere & &+t g1t 8 7
(A) B (B) ®Te < fera-=raen
(C) 9y (D) 39X
90. Who got the 1998 Nobel Prize in the Economics ?
(A) Solow B) Marsha(i\ll (C) Amartya Sen (D) None of these

3 H 1998 T Teel JLEhR fohdl firet 2 ’
(A) ==l (B) WRIA (C) 3WA T (D) TH U HIS &l

91. Which one of the following is called terrestrial planet ?

%ﬁ:)’ Uranus (B) Saturn (C) Jupiter (D) Mercury
T HH A Nis U8 8 2

(A) T (B) =i (C) gewfd (D) g
92. The earth 1s at its maximum distance from the sun on

A; 30" January EB; 22" December

EC 22" September D) 4% July

qeall el ¥ H AT HAlehaH gl WEd & 7
(A) 3059 (B) 22fegmr  (C) 22fqasx (D) 43S

93. Intrusion of magma along a bedding plane is called a

(A) Dyke (B) Still (C) Batholith (D) Laccolith
T TA b 1Y AT T TG haelldl &
(A) SHH (B) & (C) Seqiferer (D) ehifory
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94. ‘Seismography’ is the study of
(A) Mountains (B) Volcanoes (C) Rivers (D) None of these
‘ ’ FEA G ?

(A) wadl (B) “erefEdi (C) feai (D) T ¥ HIE T

95. Which of the following is an organic rock ?

(A) Marble (B) Granite (C) Slate (D) Coal
fadasR@isa AT s ?
(A) FTHT (B) IS (C) & (D) HiF
96. Periodic movement of the sea water is known as
(A) Tides (B) Waves (C) Current (D) Tsunami
ERERCICMRICE hET
(A) SIR-9E (B) U (C) &m (D) g

97. Which of the following is a land locked sea ?
(A) Northsea (B) Aralsea (C) Redsea (D) None of these
= 4 9 F 91 -Sg 9T g ?
(A) SRIATRX  (B) IWAHFR (C) @AEFR (D) 0 & HIg 781

98. Which of the following is not an Island ?

(A) Greenland (B) Ireland (C) Cuba (D) Sweden

fdasRaTh U & & 2

(A) Helve (B) ImAE  (C) Hg (D) wred
99. Ozone holes are more pronounced at the

(A) Equator (B) Tropic of Cancer

(C) Tropic of Capricorn (D) Poles

3N fog 1fe e 8

(A) WHW R (B) @R (C) ¥R @R (D) gai W
100. (Sﬁe)1 bgezi o forme%)d urﬁ? ht ti €) S 1 (D) Noneofth
ay time 1 1me casona one o cS¢e
Hﬂ'sﬁaﬂ%aﬂﬁ su%; ¢ ’
(A) fasama (B) masawy  (C) Hem (D) 0 O HIs &l
101. Rain shadow effect is associated with

A) cyclonic rainfall B) Orographic rainfall
C onvectional rainfall D) Frontal rainfall

e — SR IS fohed Tafa g ?
(A) Tadiast (B) wddmast  (C) daeh@ast (D) st

102. Which of the following environmental pollutant leads to the occurrence of

a01d rain ?
Carbon monoxide B) Carbon dioxide
Hydrogen eroxide D Sulphur dioxide
>|<.‘£|°ba3 HIUT AT 991 gldl & 2
(A) °h|®|-| THIRETSS (B) hTe SI3-3TFETSE
(©) 8|3_§:|3;| T -HATHHSS (D) Hewl STs- 3T|_°R°|'|3_5'
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103.

104.

105S.

106.

107.

108.

109.

110.

111.

‘Takla Makan’ desert 1s located in

(A) Kazakhstan (B) Turkmenistan (C) Uzbekistan (D) China
“TheAT HehT’ 2

(A) HIEEE (B) ThAHAEH  (C) 3Safhsad (D) 9

Which is the purest commercial form of iron ?

(A) Pig iron (B) Steel (C) Stainless steel (D) Wrought iron
Al 1 IGad ST Ted i |18 ? ‘

(A) w=ERl  (B) WA (C) V@ we (D) foeai aar
Sheep provide

(A) Mutton_ (B) Beef (C) Pork (D) None of these
S e .

(A) we (B) % (C) i (D) ¥ & g Tl
Cuba is the largest producer of

(A) Wheat (B) Sugar (C) Rice (D) Barley

(A) TEe (B) W@ (C) I@A® (D) S

Which country is called the ‘Land of Midnight Sun’ ?

(A) Sweden (B) Iceland (C) Finland (D) Norway
I H1 ¢ TUE AT T HEATIT &

(A) wited (B) 3EHcve  (C) Thcive (D) At

‘Pir Panjal’ Range in the Himalayas is a part of

(A) Shiwalik (B) Trans Himalaya

(C) Inner Hlmalaya (D) Greater Himalaya
feaTer™ # “fiR UsTTer” veaTet foheeht YT 2 7

(A) Trafre (B) wRfgmem  (C) o= fgure™ (D) ¥&d fedmem™

Which of the following is a Trans-Himalayan river ?

(A) Yamuna (B) Ganga (C) Satly; (D) Ravi
g s diur %mm"r:la%
(A) g (B) Trm (C) §ags (D) Tt

Which one of the following tree species does not belong to deciduous
vegetation ?

(A) Sal (B) Sandalwood (C) Deodar (D) Teak
= 1 @ = it g et gofurdt aeafa @ araf-a 7€ 8 2
(A) 9@ (B) =< (C) ¢aeR (D) &WiH

Which one of the following places has the lowest rainfall during the South-
West Monsoon ?
%n:)’ Delhi (B) Kolkata (C) Mangalore (D) Chennai

H ¥ fohd T T glerur-ufeas HTEd o SR <ia a9 8l & 2

(A) feoeht (B) hIcthIdT (C) TR (D) =g
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112. What is chiefly found at Jharia in Jharkhand ?

(A) Gold (B) Thorium (C) Silk (D) Coal
FREve H i d gerd: 1 arR Sian | 2
(A) @ (B) enfem (C) oo (D) R

113. Tarapur nuclear station is located in

(A) Maharashtra (B) Uttar Pradesh (C) Tamil Nadu (D) Gujarat

AR 2

(A) WEWTY (B) SW¥  (C) dfeg (D) oW
114. Which state is the largest producer of pulses in India ?

(A) Bihar (B) Rajasthan

(C) Madhya Pradesh (D) Maharashtra

WA © Tell ohl T Teeh 3caTeeh U hid AT 8 2

(A) TeBR (B) TSEI™ (C) Wy (D) "EWIg
115. Nagarjun Sagar project is in

(A) Andhra Pradesh (B) Telangana

©) Madhya Pradesh (D) Uttar Pradesh

dl‘llﬂ"l IR YIS

(A) AT H (B) daTHIH  (C) AA TGN H (D) IWIWH
116. Which place is called as ‘Silicon Valley’ of India ?

(A) Delhi (BQ Pune (C) Bengaluru (D) Hyderabad

I H1 T IR i “Fafetspiq defl” Shagarar g 2

(A) fooeh (B) T (C) =g (D) BTG
117. The least populated state in India is

(A) Mizoram (B) Goa (C) Sikkim (D) Manipur

HId ﬁ ddY bl ST dTAT UsY

(A) TSI (B) e (C) fafera (D) WO

118. Which method of water purification does not kill micro-organism ?
(A) B0111ng (B) Filtration C) Chlorination (D) UV-radiation
STt QfGeRtoT <hl i &1 farfer gem—sfiar ol 78 & i @ ?
(A) ST (B) T (C) s (D) UV-fafemm

119. Which of the following is not responsible for ‘green house effect’ ?

(A) Carbon dioxide (B) Nitrogen

(C) Water Vapour (D) Chlorofluorocarbons
g ehH gl T8 TTe o foTu Ierft & § 2

(A) HIEH STE-3TTHATES (B) HTE2ISH

(C) Tt aTsa (D) FARIFITIhTEH

120. Natlonal Green Tribunal (NGT) was established in
e WA feeaet (NGT) 1 T 8
(A) 2008 (B) 2009 (C) 2010 (D) 2011
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121. The intensity of earth’s gravitational field is maximum at the

A; equator Bg ole
C) centre of the earth D one of these
9t o Teca g &1 <hl e STehad Bidl &

(A) YHERGI W (B) Ydi W (C) g HER(D) T & HIE T2l

122. The working principle of a washing machine is

EA diffusion ' ng dialysis
C)_ reverse osmosis D) centrifugation
Wi =1 % fagT= 8

INRREL U (B) 3TdE (C) wfderd TErer (D) 3T9eh=gul
123. SI unit of heat 1s

(A) Calorie (B) Joule (C) Kelvin (D) None of these
ST T TH.3TS. T & ,
(A) et (B) & (C) hfead (D) T 9 His &
124. Clear nights are cooler than cloudy nights because of
A) Condensation B) Conduction
C Radiat\ion D) Insolation

T T $Heh BV HeT=sTied Ud o

(A) T (B) dTeH (C) Taferm (D) I
125. Clothes keep us warm in winter because they
A) supply heat
B) do not radiate heat

C) prevent the heat of body from escaping
D) prevent air from contacting the body

U Ffet § T wEd & i 9

(A) FHTAYdHAdaE |

(B) <1 fafenfta 7 shed & | .
(C) SR T FoAT Sl ST Fehe A Uehd 2 |
(D) A IR T T hl Tehd & |

126. Sound travel fastest in
(A) air (B) water (C) steel (D) vacuum

(A) agH (B) @ H (C) €ad (D) Trafa#
127. Which of the following type of waves is different from others ?

A) light waves B) X-rays
C) radio waves ) D) sound waves
=1 G Topd SRR ohl 0T 311 € =1 8 2
(A) S LT (B) x-forwur
(C) s aw (D) &t aw
128. Mirage is observed in a desert due to the phenomenon of
A) interference B) scatterin
C; total internal reflection D) none of these
% 0T R o Flferent steedifeha 2t 2
(A) SRl (B) Sehiv
(C) Ut 3TT=afieh T (D) ¥ ¥ IS &l
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129.

130.

131.

132.

133.

134.

135.

136.

137.

Light from the sun reaches the earth in nearly

(A)_5minutes (B) 6minutes (C) 7 minutes (D)
T TN YT ek Ugadl & THTHT

(A) sfed  (B) 6fwed () 7fmed (D)

Which of the following gases is present in soft drinks ?

(A) Oxygen (B) Nitrogen

(C) Carbon dioxide Nitrous oxide

Arte fg=h o f7 o 9 9 = 719 gt 8 ?

(A) s (B) &g

(C) +<hIeH ST3-IHFHISS (D) H13¢H IHAHHISS

Which one is not a colloidal solution ?

(A) Smoke g\B) Air (C) Blood (D)
ﬁ?{mw HIATES! Toretad T8l 3 2

(A) g (B) o1q (C) & (D)
Heavy water is used as

(A) Washing water (B) Drinking water
(C) Moderator (D) None of these
W STeT 1 SRINT fohall STTaT & 56 &9 |

(A) g@aSa (B) WA (C) #H<h (D)
‘LPG’ chiefly contains

(A) Methane (B) Ethylene (C) Propane (D)
‘LPG’ § :

(A) oA (B) TR\ (C) ¥rtH (D)

Vitamin C 1s
A) Ascorbic acid B) Nicotinic acid
C Citri%c acid D) Tartaric acid
C

(A) TEhifde THE (B) frepifefes uftre

(C) fafes wire (D) i s

Iodine deficiency in diet is known to cause

(A) Goitre (B) Beri-beri (C) Rickets (D)

HERH 6 S T BT 2

(A) TEX (B) =l-s{ (C) frheH (D)

&I}/ iﬁlrelq[t%d ‘© (B) PI (C) AIDS (D)
epatitis ague

HIV 358 grafa 2 : :

(A) BleEfer (B) wm (C) TgH (D)

The stimulant present in Tea is

(A) Nicotine (B) Tannin (C) Cafteine (D)

T T 3T H

(A) TIEA (B) eF= (C) HHH (D)
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138.

139.

140.

141.

142.

143.

144.

145.

Cactus is referred to as

(A) Hydrophyte (B) Mesophyte (C) Xerophyte (D) Epiphyte
HFeH % wg Tgfia fohar SITaT &

(A) TEgHEE  (B) fdege  (C) Sfuwwe (D) sire
Which of the following is a true fish ?

(A) Star fish (B) Jelly fish (C) Cuttle fish (D) Sea Horse
1 4 9 %9 &) ues arfaes 79l § 2

(A) Wrfesr  (B) Sefifesr (C) ssafhyr (D) @gdl @ien
Insulin is a kind of

(A) Salt (B) Hormone  (C) Enzyme (D) Vitamin
S SHhT TehL

(A) 0 (B) &M (C) T~ITEH (D) fererte

The largest organ of human body is

(A) Heart (B) Brain (C) Liver (D) Kidney
He TR 1 Gd €1 3T 8
(A) &H (B) wfedsh (C) IHd (D) TFh

Vijay’s position is 14" from upwards in a class of 43 students. What will be
his position from downwards ?

(A) 28t (B) 29% (C) 30 (D) 31%

43 BTAT <l Teh hefl H a9 o1 T FI T IR F 1437 7 | = Al 3T F I5HI
T T T 2

(A) 28aT (B) 29af (C) 30af (D) 3laf
Introducing a lady, a man said, “The only son of her father is my father.”
How is the man related to the lady ?

(A) Son (B) Nephew (C) Uncle (D) Father

“Tsh HigeTl T IN=T HUd T Teh Te¥ Hadl 8, S8 TUdT <l ThHAT T W fuar 2 17

%Y 34 Higel 9 fohd TohR TraIfrd g 2

(A) @ (B) i (C) =m= (D) forer
In a code ‘STATION’ is denoted by ‘URCRKMP’ then ‘BRING’ in the same
code will be denoted by

(A) CSKLH (B) DTKLH (C) DSGLH (D) None of these
fpeft e ® ‘STATION’ I ‘URCRKMP’ & gf=d foham Sran g, a 3¢t % ®
‘BRING’ =i fohe®l gfara feram STemT ?

(A) CSKLH (B) DTKLH (C) DSGLH (D) %W @ &ig =&l
As ‘Tailor’ is related to ‘Cloth’, in the same way, ‘Cobbler’ is related to which ?
(A) Machine (B) Leather (C) Sewing (D) Repairing

e TR ‘St et 8 ‘hue’ 9, 3H IR, A= hed grEia 8 2

(A) wefi (B) =msr (C) foems (D) #tHd
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146. Which is the highest peak of district Hamirpur (H.P.) ?

(A) Touni Devi hill (B) Awahdevi Hill

(C) Baba Rudru Hill (D) Jhaniyari Devi Hill

TR (2.9, )fSTet 1 et =et o €t & 2

(A) T TETed (B) 34T <l UgTel

(C) e &5 WETE (D) vt <t werel
147. Who was the first Himachali to became Chief of Army Staft ?

(A) V.N. Sharma (B) K.L.Mahajan

(C) Bhupendra Thakur (D) None of these

AT % 1 =% 91 e I fEHTE oI g o7 2 ’
(A) e s (B) *.ud. HESH (C) WO 3H (D) I & hig T

148. In which year ‘Biodiversity Board’ was set up in H.P. ?

Teumaat yeu 8§ St -fafaydar queer i v fohg oy 1 g8 ot 2

(A) 1996 (B) 2001 (C) 2005 (D) 2010
149. India’s first Military School was set up in H.P. at

(A) Chail (B) Kasauli (C) Dehradun (D) Shimla

YIRA & T Sfeh Thet shl TAT9AT femmeret ew & el g8 7

(A) = (B) HEIcA (C) <&UeH (D) femen
150. Who was known as ‘Maharishi’ in H.P. ?

(A) Shoba Singh (B) Nicholas Roerich

(C) Lal Chand Prarthi (D) Nikka Chand

feHTaet Wex H wel’ o w9 H o8 ST Srerm o ?

A) mwfag (B) Feewmafm (0) darm<gwedl (D) Ferra<
151. Who started anti corruption movement in Mandi State in the year 1909 ?

(A) Balbir Singh (B) Hukam Sen (C) Shobha Ram (D) Tejpal

9 1909 H wUt T H YR foriel Strier fopem o fopar 2

(A) SosRfig  (B) O & (C) ST T| (D) d<TITeA
152. The first European who visited Chamba in 1839 was

(A) Lord Clive (B) North Brook

(C) William Bentick (D) Vigne

1839 T =TT 1 YHUT Sl JTCT T o

(A) AT (B) -5 (C) fafermdfes (D) fom
153. Who wrote the book ‘Himachal Pradesh Atit and Vartman’ ?

(A) P.N. Sembal

(B) Sharab Negi

(C) Dr. Padam Kashyap

(D) Mian Goverdhan Singh

‘ T 3Tl TR FaH qedeh fopae foreht 2

(A) .. T (B) & Fft

(C) Sf. ugH Hwd (D) Tt mad= fig
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154.

155.

156.

157.

158.

159.

160.

The main place of ‘Mahasu Devta’ is at
(A) Hatkoti (B) Pujarhi (C) Hanol (D) Jangla
TETY CFal’ 1 I&d ¥I[ §
(A) EhIdt (B) e (C) BHIA (D) STl
The highest village of Chandra Valley in H.P. is
(A) Saug (B) Morsu (C) Kokhsar (D) Baturda
H Fe51 |11 o1 IAGH T §
(A) H (B) e (C) PrE@ (D) I
The National Youth Day is celebrated every year on which date in India ?
(A) 12 November (B) 12 December
(C) 12 January (D) 12 October
Rd B U Fan feaa ufa ad form arii@ st aemn Sran g 2
(A) 12,7@=R (B) 12,fgg=x (C) 12,5Malt (D) 12, 3T&sK
Which country has granted citizenship to Julian Assange, the founder of
Wikileaks ?

(A) South Korea (B) China
(C) USA (D) Ecuador

o HEATI S[[CTI 3TETS <l Tohdl ¢ = ATTRERAT J&H i & ?
(A) Sl sifEr (B) == (C) 3.u8.T. (D) 3HER

Who has been ranked first in the latest Gallup International Annual Survey

“Opinion of Global Leaders” ?

(A) Vladimir Putin (B) Donald Trump

(C) Narendra Modi (D) Emmanuel Macron

mﬁmaﬁﬁgﬁamﬁ%ﬁw “INTUTR—A 3ATE Telae elied” H JuH T W
o

(A) SATCHR gfcH (B) SHTes IH

(C) g HId (D) 3AIA HhA

Who has become the first woman lawyer to be directly promoted as a judge of
the Supreme Court ?

(A) Sudha Misra (B) Roma Joseph

(Cl Indu Malhotra . (\D) Meenakshi Arora

g = =T & =ARTERS o €9 5 Y W=Td 814 arefl T2 Afgelt gehiet i s+t 2

(A) gaifisn  (B) UmS®®  (C) $gucaEn (D) Hieft 3w

Which telecom company of India to launch its own cryptocurrency ?

(A) Tata DOCOMO (B) Airtel

(C) Reliance Jio (D) Idea Cellular

AT T <hl ToheeentEt TR vt Teit W <hl SeATehiH a1 shid 1 8 2
(A) <TeTEHMHl (B) WA

(C) fromra fam (D) 3sfean Teer
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

ISRO has successfully launched cartosat 2 series satellite into space from
which launch vehicle ?

38U (ISRO) A fohe w&™ amed ¥ Faie H S 2 S IuE dherargas
weifua fepam 8 2

(A) PSLVC-44 (B) PSLVC-42 (C) PSLVC-40 (D) PSLV C-46
Which state government has recently rolled out e-Raktkosh web portal in all
government blood banks ?

(A) Punjab (B) Rajasthan

(C) Madhya Pradesh (D) Odisha

TorT T TLHR A BT &) 1 Tt Gehi) g Sehl H $-TordehlY e Tieet TR Toram & 2
(A) 9§ (B) TSR (C) wawew (D) 3fifesm

Aanchal Thakur who has become the first Indian to win an international
medal in skiing, hails from which state ?

(A) Himachal Pradesh (B) Odisha

(C) Kerala (D) Punjab

3Teet T SN Fehgt § STRig Ugeh Siia- aTeft 9o v -1, fra s 8 8 2
(A) fmm@wem (B) sifem  (C) F@ (D) ST

Which Bollywood personality has become the official brand ambassador of
Sikkim ?
(A) Irfan Khan (B) Akshay Kumar
(C) Priyanka Chopra (D) A.R. Rehman
I TSI STUE ITEEHEST S ATCAT TS SHThed i & ?

(A) FTHEEEHE  (B) I PAR  (C) B =mel (D) AR, WHN

Antonym of the word ‘Penitence’ is
(A) penniless (B) cowardice (C) naughty (D) remorseless

Your are trying to drag me a controversy.

(A) in (B) into (C) from (D) for
Meaning of the idiom ‘Wink at’ is

(A) to tease somebody (B) to like someone

(C) to pretend not to see (D) to stare at

“Forerehl a1 81’ % fore weh vree B

(A) e (B) 3w (C) 3rguan (D) T8 @ IE &

JTSRE’ I O T 8 ?

(A) 5% (B) wgsiifg (C) Fwfiye (D) gy
YEIRT . . .
(A) 3TThIETT (B) 3ThlaT (C) 3ThT (D) 3TehIEI
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